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Introduction 
   
This exemplar booklet has been created using student responses from the exam 
paper in GCSE History Paper 3: Modern depth study (Option 31: Weimar and 
Nazi Germany, 1918–39). The answers and examiner commentaries in this guide 
can be used to show the application of the mark schemes in the GCSE History 
assessment. 

The exam duration is 1 hour and 20 minutes. The paper is marked out of 52 
marks and is worth 30% of the qualification. The examination paper covers AO1, 
AO2, AO3 and AO4. 

The examination paper is divided into Section A (Q1-2) and Section B (Q3a-d). 

The structure of the question paper is as follows: 

 
 
The question papers provide answer spaces to give guidance as to the maximum 
length of response that might be expected (although candidates may use more 
space). Tables and structured spaces are provided for some question types (Q1) 
and stimulus points are provided as prompts on higher-tariff questions (Q2). 

The questions used are 3(b), 3(c), and 3(d). The questions selected are those 
that assess AO4 skills relating to the analysis of interpretations which is only 
assessed on Paper 3.  
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Question 3(b)  

Study Interpretations 1 and 2. They give different views about the challenges 
facing the Weimar Republic in the years 1919-23.  

What is the main difference between these views?  

Explain your answer, using details from both interpretations. (4) 

 

Mark scheme 

 



4 
 

In this question candidates need to identify the difference between the views 
given in Interpretations 1 and 2 about the specified enquiry, in this case the 
challenges facing the Weimar Republic in the years 1919-23. Candidates are 
expected to identify a difference and evidence this by selecting relevant points 
from the interpretations. Candidates are expected to offer a difference in the 
overall view presented in each interpretation and support this with details from 
the interpretations.  

 

Candidate answers to question 3 (b)  
Response 1 

 

 

Examiner Comments 

This answer was awarded Level 2, 4 marks.  

The candidate shows a clear understanding of the main difference in view 
between the two interpretations. They have identified that Interpretation 1 
focuses on external political challenges while Interpretation suggests that it was 
the actions of the Weimar Government itself which created the challenges faced.  
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Response 2 

 

 

Examiner Comments 
 
This candidate was awarded Level 1, 2 marks. 
 
The candidate has asserted that there is a difference of view between the two 
interpretations with Interpretation 1 being described as taking a political view 
and Interpretation 2 looking at the lack of support from the people of 
Germany. However, the response does not contain any direct support from the 
interpretations so cannot be awarded marks in Level 2. 
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Question 3(c)  

Suggest one reason why Interpretations 1 and 2 give different views about the 
challenges facing the Weimar Republic in the years 1919-23.  

You may use Sources B and C to help explain your answer. (4) 

Mark Scheme 

 

Moving on from identifying the differences in view in question 3(b), in question 
3(c) candidates need to explain a reason for those differences. Only one reason, 
effectively substantiated, is required to get into Level 2.  

Candidates may consider a variety of different possibilities. For example, they 
may choose to focus on the weight the authors have given to different sources 
and they can use Sources A and B to support their explanation. Candidates 
might also look to explain how the authors have emphasised different details 
from the past or have considered the past from different perspectives. Answers 
must be substantiated by using details from the interpretation, and sources if 
relevant, to support the explanation in order to reach Level 2.  
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Candidate answers to question 3 (c)  
Response 1 

 

 

Examiner Comments 

This candidate was awarded Level 2, 4 marks. 

This answer has looked at the different perspectives employed by the historians 
writing the interpretations and explains the difference between the economic and 
political perspectives given. The use of the word focus and the valid reference to 
political and economic indicate there is an awareness of historians working from 
different perspective. The answer is substantiated by references to the specific 
claims made in the interpretations and is, therefore, placed at the top of Level 2.    
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Response 2 

 

 

Examiner Comments 
 
This candidate was awarded Level 1, 1 mark. 
 
The candidate has tried to explain the differences by incorrectly asserting that 
they can be explained because one interpretation is from a website and one is 
from a book. Speculative reasons based on provenance cannot be rewarded as 
the question is rooted in the interpretations themselves. In the final sentence 
the candidate does show some understanding of the political perspective given in 
Interpretation 1 so can be awarded one mark.   



9 
 

Spelling, punctuation, grammar and use of specialist terminology will be 
assessed in part (d).  

Question 3(d) How far do you agree with Interpretation 2 about the 
challenges facing the Weimar Republic in the years 1919-23?  

Explain your answer, using both interpretations and your knowledge of the 
historical context.           
           (16) 

Mark scheme 
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This question requires students to show how different elements of the enquiry 
addressed in Question 3 (a), (b) and (c) can be effectively used to explain why 
the candidate agrees and/or disagrees with Interpretation 2. Interpretations 1 
and 2 provide alternative views about the challenges to the Weimar Republic. 
These are different views and not intended to reflect a specific historical 
controversy.  

Three elements need to be addressed for candidates to be successful: evaluation 
and judgement of the given interpretation, the analysis of the provided material, 
i.e. the 2 interpretations, and the deployment of contextual knowledge to 
support the evaluation. Candidates need to correctly identify what Interpretation 
2 is saying - in this case that the challenge facing the Weimar Republic was an 
economic one in the form of hyperinflation – and to analyse this in relation to 
the view given in Interpretation 1 and their own contextual knowledge. 
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Candidate answers to question 3(d)  
Response 1  
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Examiner Comments 

This candidate was awarded Level 2, 7 marks. It was also awarded 3 
marks for SPaG. 
 
This response contains some valid evaluative comment and counters some 
aspects of the view presented in Interpretation 2. These evaluative comments 
are quite detailed in places and shows some analysis of Interpretation 2 by 
selecting details from it and questioning them. However, there is no attempt to 
make explicit use of Interpretation 1 in the analysis so this aspect of the 
response is restricted to Level 2. Contextual knowledge is used and linked to the 
evaluation, especially with regard to the rebellions facing the Weimar Republic. 
The judgement given is clear but does not consider the alternative view 
presented in Interpretation 1. This candidate is attempting to determine the 
utility of the interpretation, deploying the AO3 skills required for Q3(a), rather 
than determining the extent to which they agree with Interpretation 2 in relation 
to the alternative view suggested in Interpretation 1. 
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Response 2 
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Examiner Comments  

This answer was awarded Level 4, 14 marks. It was also awarded 4 
marks for SPaG. 
 
The candidate evaluates and makes a judgement on the given interpretation by 
analysing the specific claims made in Interpretation 2.  A tentative but clearly 
stated judgement is also made in the conclusion about the extent to which the 
candidate agrees with Interpretation 2 in its views about the challenges to the 
Weimar Republic. There is clear analysis of the provided material, i.e. the 2 
interpretations and the alternative views are reviewed, if not in the body of the 
essay, at least in the conclusion where both interpretations are evaluated in 
relation to each other. The candidate has also indicated some awareness of how 
the differences of view in the interpretations have been conveyed, by 
considering the selection of information on the hyperinflation in Interpretation 2 
and the putsches in Interpretation 1. However, this could have been more shown 
more clearly to be secure in Level 4. Some candidates were able to build on their 
answers to 3(b) and 3(c) effectively to indicate that this information showed a 
difference in emphasis between economic and political challenges. It is also clear 
that precise contextual knowledge has been selected to support the evaluation, 
with examples provided throughout. 

 

 



For information about Pearson Qualifications, including Pearson Edexcel, 
BTEC and LCCI qualifications visit qualifications.pearson.com

Edexcel and BTEC are registered trademarks of Pearson Education Limited

Pearson Education Limited. Registered in England and Wales No. 872828 
Registered Office:  80 Strand, London WC2R 0RL

VAT Reg No GB 278 537121




